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Question 1.(51%) Circle the correct answer:
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4. The half-life of polonium is 139 days. The decay rate k is
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5. One of the following statements is false

I ) = ta,n:c the length of the curve f(a:) 0<z<h
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1__2..) A poyulatioyréf bacteria gfo{vs at the rate of In2 per hour. If the population
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et

a) 3000. g+
(=) 2 ' finl e -
Y8000, s
' —-‘.>'\‘\’l_‘:\_,g= C/‘ZJ
‘ Ac) 4000. i X B
() 6000 | y = [00ve '
. s
\ e : : Y ;' o \ .ﬁ‘.%’
13. If 4% = 3%-% then 7 = AT = T 4
' P ) Q-
==l W E
) ﬁ 2" k) ﬁ‘;/ "/i’:}
IS MY
g—ﬂ\
0 - LS
‘i\ kS ﬁ i . [
., > K \ I S k
{ 7y = A ) %
) = s .
S Ain Ve k’“\"ﬁ%} == \

. o G
BV SERRLN Coxanvl = T

Y

[S\]




14. The volume of the solid whose cross sections perpendicular to the r—axis are
disks with dlametprq runmng from y = -\/_ toy = \/_ 0<z<1lis
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15. The area of the surface generated by revolving the curve Y= er 05z <1

about the z—axis is
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Question 2(16%) Consider the area enclosed between the curves y = sinz, y =
cosz and the y-axis. Setup integrals that give the volume of the solid generated by
revolving this area about
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(i) The p-axis. Use washer method. Don’t solve the integral-/
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(ii) The y-axis. Use shell method. Don’t solve the integral. W B * e
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(iii} The line z = Z. Use shell method Don’'t solve the integral.

dx

.r‘l

™

/

(iv) The line y = 1. Use washer method. Don’t solve the integral.
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Question 3(16%) Solve the following integrals:
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Question 4{17%} Consider the curve y =Inz, 1 <z < V3.

(a) Show that the length of the curve L =
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(b) Solve the integra in (a).
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